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Q.1 ‘TS Fwrvoft g A1 gsTar 1 FeUT AT 3 a1 rearar SHETT oty siiwar.

Ans o 1 3RR
Xo2.m
X 3. 3%GEEH
X 4. et
Question Type : MCQ
Question ID : 630680330375
Option 11D : 6306801285171
Option 2 ID : 6306801285172
Option 31D : 6306801285170
Option 4 ID : 6306801285169
Status : Answered
Chosen Option: 1
Marks : 2
Q.2 @reiier e faseareff ores; aitet.
A
Ans X 1.33AF
o 2. 959
X 3. iRgm
5 4. FzEH
Question Type : MCQ
Question ID : 630680330377
Option 1 ID : 6306801285177
Option 2 ID : 6306801285180
Option 31D : 6306801285178
Option 4 ID : 6306801285179
Status : Answered
Chosen Option : 2
Marks : 2
Q.3 @reiier fremaneff areama geareff arerma Tuiar Fee gt fuE sitear.
fasreh agl a1 sfaarsiug sng.
Ans X 1. fOSThl a8t BT 3101 chicieehiiaT ShidaTug 3118,
X 2. FiqarEg 31 'fAsTh agr!
X 3. farsrht @@l g1 wfaariug mer Sfter sre
o 4. [ISTh gl 81 hiddres 3ie e
Question Type : MCQ
Question ID : 630680330367
Option 11D : 6306801285139
Option 21D : 6306801285138
Option 3 ID : 6306801285140
Option 4 ID : 6306801285137
Status : Answered
Chosen Option : 4
Marks : 2




Q.4 @reiier glarRTT arear TR areraTa Tuiar hde g A sitear.

frereriaT SrTeR wHRTET.
Ans o 1. fRETRTET SFIER e .
< 2. fRreTeRtaT S1ER e !
< 3. fRreTeRtaT S1eR & .
X 4. fAeTeRTaT SMTER T B AP
Question Type : MCQ
Question ID : 630680330368
Option 11D : 6306801285142
Option 2 1D : 6306801285143
Option 31D : 6306801285141
Option 4 ID : 6306801285144
Status : Answered
Chosen Option: 1
Marks : 2
Q.5 Wrefier erearaT 3ref Tim,
SIYH
Ans X 1.3y
g 2. 3T
X 3.
X 4. Gsfiat
Question Type : MCQ
Question ID : 630680330371
Option 11D : 6306801285156
Option 2 ID : 6306801285153
Option 3 1D : 6306801285154
Option 4 ID : 6306801285155
Status : Answered
Chosen Option: 2
Marks : 2
Q.6 WTeiier aTeRITe et T Sftesaar.
A IR @resl.
Ans X 1. 9909 FHHOf pET
W 2. ol T
2 3. qRIoT SRR
X 4. 7 weft
Question Type : MCQ
Question ID : 630680330372
Option 11D : 6306801285158
Option 2 1D : 6306801285159
Option 31D : 6306801285160
Option 4 1D : 6306801285157
Status : Marked For Review

Chosen Option :
Marks :

2
2




Q.7

@refier wgoftar ol i sitear.
FeTaTE 9T 3oy ST wér

Ans X 1. &g AU A ¥R ATOTETE 16! JRET gid ATl
X 2. 39 A eft gor @ sraauft ATt R
X 3. IS TS 1A uRkerm got
W 4. ac Sl SielTe FaTHT U T, TOT el A Y.
Question Type : MCQ
Question ID : 630680330381
Option 1 ID : 6306801285195
Option 2 ID : 6306801285194
Option 31D : 6306801285196
Option 4 ID : 6306801285193
Status : Marked For Review
Chosen Option: 1
Marks : 0
Q.8 'Srahdl fAehe GoY T areRTaRTEN A1 3ref SiteaT.
Ans X 1. geHET ATOR 7 SO,
W 2. ITHAT SATelel AGTUTITL.
X 3. gg=ur=t faemRt ar.
X 4. <rgrorgut fRIcgut.
Question Type : MCQ
Question ID : 630680330383
Option 1 ID : 6306801285204
Option 2 ID : 6306801285203
Option 3 ID : 6306801285202
Option 4 ID : 6306801285201
Status : Answered
Chosen Option : 2
Marks : 2
Q.9 Wreie reaTa faseart 21 silear.
SRaET
Ans X 1. SR
X 2. duse
X 3.
o 4. 3Radn
Question Type : MCQ
Question ID : 630680330376
Option 1 ID : 6306801285175
Option 2 ID : 6306801285173
Option 31D : 6306801285176
Option 4 ID : 6306801285174
Status : Answered
Chosen Option : 4
Marks : 2




Q.10 Erefter eregra ol 3 sitesar.

icE]
Ans X 1. 9regor
o 2. AR
25 3. STt
& 4.gga
Question Type : MCQ
Question ID : 630680330388
Option 11D : 6306801285224
Option 2 ID : 6306801285222
Option 3 ID : 6306801285223
Option 4 ID : 6306801285221
Status : Answered
Chosen Option : 2
Marks : 2
Q.11 @i QreETa YA e
yaet
Ans o 1. JIIY THIY
X 2. sreftre ug
X 3. Jgdie aue
X 4. ggoa
Question Type : MCQ
Question ID : 630680330380
Option 11D : 6306801285190
Option 2 ID : 6306801285192
Option 3 ID : 6306801285191
Option 4 ID : 6306801285189
Status : Answered
Chosen Option : 1
Marks : 2
Q.12 T IIeFT=T UehR .
SIegT Thohl IA ANTA, degT T aT=aTaR UH™E ANTal.
Ans X 1. hacrarag
< 2. ugmifarag
5 3. TygerareR
W 4. fsEr
Question Type : MCQ
Question ID : 630680330369
Option 11D : 6306801285145
Option 2 ID : 6306801285147
Option 3 1D : 6306801285148
Option 4 ID : 6306801285146
Status : Answered
Chosen Option : 4
Marks : 2




Q.13 '3Tasure dies U=t a7 A= arerd IUAhT Sieet Wiefierdd v A siear.

Ans & 1. TRGITTE HIUTYER el TS dTcich UTgH HISAT STaSdTe Uies IS,
X 2. AT Gedte iy gl HISAT Sdsaren 4o gse
X 3. 7T et BT hasledTar HIAT STasdrel Ui el

X 4. e it fAasTett snfoy Arga srdsarer dies uge.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330384
6306801285208
6306801285206
6306801285205
6306801285207
Answered

1

2

Q.14 'giieR' & et ivh fodistt?
X 1. orefia g
o 2. FarSht arda

Ans

/< 3.1 9. 3AHER
< 4. e uréia

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680330390
6306801285230
6306801285229
6306801285231
6306801285232
Answered

1

0

Q.15 @Telie arerTdiet v sitesan
&1 =T TA[UTT aRT ISR, HAUN =i .
W 1. QRI0T el
X 2. Foft maT
X 3. gaTge el gaT
X 4. 7 aeoft

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680330373
6306801285162
6306801285161
6306801285164
6306801285163
Answered

1

2




Q.16 Erefier eregraT Al 3 sitesar.

YR
Ans X 1.STfgRa
o 2.9
X 3. TER
X 4. ufeg
Question Type : MCQ
Question ID : 630680330387
Option 11D : 6306801285218
Option 2 ID : 6306801285219
Option 3 ID : 6306801285217
Option 4 ID : 6306801285220
Status : Answered
Chosen Option : 2
Marks : 2
Q.17 et 2rsaraT 37 Him.
T<q
Ans X 1.a=t
o 2. 99y
< 3. o=l
25 4. 3T
Question Type : MCQ
Question ID : 630680330370
Option 11D : 6306801285150
Option 2 ID : 6306801285152
Option 3 ID : 6306801285151
Option 4 ID : 6306801285149
Status : Marked For Review
Chosen Option: 2
Marks : 2
Q.18 @it wgufl=m ol aref e,
diet a9 TTet f derE! uree.
Ans X 1. gHSITET AN UTgH AL UGTOM Bl
w 2. FIEIRITHATUN SR el Tet e ahrrd.
X 3. PRichA IhedTaR AT Tl
X 4. STTIEH IA STUT Shefalar STl STed.
Question Type : MCQ
Question ID : 630680330382
Option 11D : 6306801285198
Option 2 ID : 6306801285199
Option 3 1D : 6306801285200
Option 4 ID : 6306801285197
Status : Answered
Chosen Option : 2
Marks : 2




Q.19 Erefier eregra fawseereff oreg sitesr.

faema
Ans 1. Gehe
75 2. ket
X 3. fashr
X 4.
Question Type : MCQ
Question ID : 630680330378
Option 11D : 6306801285183
Option 2 ID : 6306801285184
Option 31D : 6306801285182
Option 4 1D : 6306801285181
Status : Answered
Chosen Option: 1
Marks : 2
Q.20 '"eT Hefer IR T TSTaT AT Shiegvatdie g ar regrar THTETT 21y sitesa.
Ans o #1 T
X 2. .99
X 3.9
X 4 faamr
Question Type : MCQ
Question ID : 630680330374
Option 11D : 6306801285165
Option 2 ID : 6306801285166
Option 31D : 6306801285168
Option 4 ID : 6306801285167
Status : Answered
Chosen Option : 1
Marks : 2
Q.21 '"gursht’ & e sivft fadiel?
Ans o 1. faym uridla
< 2. fRarsht grda
2 3.4 9. 3HER
X 4. 3urSia 24
Question Type : MCQ
Question ID : 630680330389
Option 1 ID : 6306801285228
Option 2 ID : 6306801285227
Option 31D : 6306801285226
Option 4 ID : 6306801285225
Status : Marked For Review

Chosen Option :
Marks :

1
2




Q.22 'GHHTE &I goha RO IT T areRITa UGN e @efierdht gty faur sitear.

Ans & 1. ISAUTISd HORITGEA QI HIaTE Wisu! uTge IR arevitan fofa 8% geeme b s

&,
X 2. ST AT TR STeiT Aehel HE &g GeheTd QI Jehs chel.
25 3. IAMTSHA! YehTd S Johs e 38t @ieet
X 4. FIT GU T he TUH shifich (e YendTd &iF Jehs ohet.

Question Type :
Question ID :
: 6306801285210
: 6306801285212
: 6306801285211
: 6306801285209
: Marked For Review
Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

McQ
630680330385

1
2

Q.23 @reflel AT THIH SiisET.

argate
Ans X 1. dGeY GHE
X 2. sreRftvg ga
o 3. G
X 4. Sgdig gae

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330379
6306801285186
6306801285185
6306801285188
6306801285187
Answered

3

2

Q.24 'SicTd UTOT S{TUTOY AT ATATT ITRITd IUTNT Aot Wiefiedeh! atg faer= e,

Ans o 1. 95 oS uRaRf AetedT Helrel StoodTd UTUT STV aTe UTgd.
X 2. SeaTd TOT SATUH Shhl= Ao} U WL dhefl.
X 3. I VIR g Ht Stesard 0T STV UTed g,
X 4. SATd UTuT UL A SIgoT Shad.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330386
6306801285213
6306801285216
6306801285214
6306801285215
Answered

1

2




Q.25 'TreT gt @ afts wioft fafga?
Ans & 1. STETTRT RG]

X 2. T5a Ut
25 3.1 9. $AHER
X A fasm agaR
Question Type : MCQ
Question ID : 630680330391
Option 11D : 6306801285233
Option 2 1D : 6306801285234
Option 31D : 6306801285236
Option 4 1D : 6306801285235
Status : Marked For Review
Chosen Option : 1
Marks : 2
Section : English Language
Q.1 Select the most appropriate meaning of the given proverb.
Better late than never
Ans o 1.Itis better to do something late than to never do it at all.
Z< 2. Don't put all of your hopes and resources into one goal or dream.
75 3. Animage can tell a story better than words.
/X 4. Everything ends; good times don't last forever.
Question Type : MCQ
Question ID : 630680274581
Option 11D : 6306801066837
Option 2 1D : 6306801066836
Option 31D : 6306801066838
Option 4 1D : 6306801066835
Status : Answered
Chosen Option: 1
Marks : 2
Q.2 Select the option that expresses the given sentence in passive voice.
Wear your school uniform.
Ans X 1. Let's wear your school uniform.
o 2. Let your school uniform be worn by you.
#< 3. Let you wear your school uniform.
#5 4. Let the school uniform be worn.
Question Type : MCQ
Question ID : 630680277580
Option 1 ID : 6306801078749
Option 2 1D : 6306801078752
Option 31D : 6306801078750
Option 4 ID : 6306801078751
Status : Answered
Chosen Option : 2
Marks : 2




Q.3 Select the most appropriate ANTONYM of the given word.

Cheerful
Ans X 1. Optimistic
X 2.Sunny
" 3. Dull
X 4. Sturdy
Question Type : MCQ
Question ID : 630680274310
Option 11D : 6306801065752
Option 2 ID : 6306801065754
Option 31D : 6306801065753
Option 4 1D : 6306801065751
Status : Answered
Chosen Option : 3
Marks : 2
Q.4 Select the most appropriate articles to fill in the blanks.
university education can give big boost to your career.
Ans ...f 1.a;a
X 2.an;an
X 3.aan
X 4.an;a
Question Type : MCQ
Question ID : 630680270809
Option 1 ID : 6306801052423
Option 2 ID : 6306801052422
Option 3 ID : 6306801052424
Option 4 ID : 6306801052425
Status : Answered
Chosen Option: 1
Marks : 2
Q.5 Select the most appropriate synonym of the underlined word.
She is an ardent supporter of human rights.
Ans " 1. passionate
75 2. listless
/< 3.casual
/X 4. cold
Question Type : MCQ
Question ID : 630680277944
Option 11D : 6306801080134
Option 2 ID : 6306801080136
Option 31D : 6306801080135
Option 4 1D : 6306801080133
Status : Answered

Chosen Option :
Marks :

1
2




Q.6 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.

Could you translate / this / into Spanish / with me?
Ans X 1.this

#< 2.into Spanish
o 3. with me
#< 4. Could you translate

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680274565
6306801066772
6306801066773
6306801066774
6306801066771
Answered

3

2

Q.7 Select the most appropriate option to fill in the blank.

Ans X 1.No article required
X 2.An

o 3. The
X 4.A

breakfast Soniya had this morning was delicious.

Question Type :
Question ID :

: 6306801052317
: 6306801052315
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

Option 11D
Option 2 ID

McQ
630680270782

6306801052316
6306801052314
Answered

3

2

Q.8 Select the most appropriate option to fill in the blank.

It is essential for all employees to comply
ensure a safe and productive work environment.

Ans o 1. with
< 2.by
X 3.in
X 4. at

the company's policies and procedures to

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252102
630680978389
630680978388
630680978390
630680978387
Answered

1

2




Q.9 The given sentence has an error. Select the option with the error.

Johny talks as if he was a king.
Ans X 1. Johny talks

o 2. he was
/< 3.aking
X 4. asif

Question Type :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

McQ
630680280754
6306801091251
6306801091253
6306801091254
6306801091252
Marked For Review
2

2

Q.10 Select the most appropriate option to fill in the blank.

he exclaimed, “than join the oppressors of my country.”
Ans X 1.1would rather die!

25 2. “l would rather die,”
w# 3. "I would rather die”
X 4.1 would rather, die!

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680274709
6306801067347
6306801067349
6306801067348
6306801067350
Answered

1

0

Q.11 Select the most appropriate option to fill in the blank.
We cannot risk so many innocent lives.

Ans X 1.possible
75 2.impossibly
w 3. possibly
/5 4. possibility

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680280725
6306801091135
6306801091138
6306801091136
6306801091137
Answered

3

2




Q.12 Select the most appropriate option to fill in the blank.
The weatherman has not warned you about the storm, ?

Ans X 1.haveyou

< 2.has'nt he
< 3. haven't you
o 4. has he

Question Type : MCQ
Question ID : 630680277574
Option 11D : 6306801078726
Option 2 1D : 6306801078728
Option 31D : 6306801078725
Option 4 1D : 6306801078727
Status : Answered
Chosen Option : 4
Marks : 2

Q.13 Select the most appropriate form of the verb given in brackets to fill in the blank.

You (fall) if you do not stop jumping on the uneven surface.
Ans X 1. will be falling

< 2. will be fallen

o 3. will fall
25 4. will fell

Question Type : MCQ
Question ID : 630680252125
Option 11D : 630680978480
Option 2 1D : 630680978482
Option 31D : 630680978479
Option 4 1D : 630680978481
Status : Answered
Chosen Option: 3

Marks : 2
Q.14 Select the INCORRECTLY spelt word.
King Dushyant refused to acknowlege the legitimacy of Bharat’s contention for the throne of
his territory.
Ans X 1.legitimacy
75 2. territory
5 3. contention
# 4. acknowlege
Question Type : MCQ
Question ID : 630680277588
Option 11D : 6306801078781
Option 2 ID : 6306801078783
Option 3 1D : 6306801078782
Option 4 ID : 6306801078784
Status : Answered
Chosen Option : 4
Marks : 2




Q.15 Select the most appropriate option to fill in the blank.
| felt that the interviewee a little worried.

Ans X 1.is
o 2. was
75 3. has been
X 4. had
Question Type : MCQ
Question ID : 630680279142
Option 11D : 6306801084848
Option 2 ID : 6306801084845
Option 3 ID : 6306801084847
Option 4 ID : 6306801084846
Status : Marked For Review
Chosen Option : 2
Marks : 2
Q.16 Select the most appropriate adjective to fill in the blank.
The__________ student received the highest score in the class.
Ans X 1.predictable
" 2. exceptional
/< 3. standard
Z5 4. conventional
Question Type : MCQ
Question ID : 630680277948
Option 11D : 6306801080151
Option 2 ID : 6306801080150
Option 31D : 6306801080152
Option 4 1D : 6306801080149
Status : Marked For Review
Chosen Option : 2
Marks : 2
Q.17 Select the most appropriate question tag to fill in the blank.
They are not being bullied at the school, ?
Ans X 1.weren't they
o 2. are they
/X 3. aren't they
5 4. were they
Question Type : MCQ
Question ID : 630680252117
Option 11D : 630680978450
Option 2 1D : 630680978448
Option 3 ID : 630680978449
Option 4 1D : 630680978447
Status : Answered
Chosen Option: 2
Marks : 2




Q.18 Parts of the given sentence have been underlined. One of them contains an error. The

Ans

underlined parts are given as options with some changes. Select the option that correctly

rectifies the error.

Once the renovations are complete, the museum will have reopened to the public.

/< 1. have completed
#5 2. Once renovations
75 3.to public

o 4. will reopen

Question Type : MCQ
Question ID : 630680279569
Option 11D : 6306801086540
Option 2 ID : 6306801086539
Option 31D : 6306801086542
Option 4 1D : 6306801086541
Status : Answered
Chosen Option : 4
Marks : 2
Q.19 Select the option that expresses the given sentence in passive voice.
They have found an unexploded bomb in Herbert Square, and they are evacuating the area.
Ans " 1. An unexploded bomb has been found in Herbert square, and the area is being
evacuated.
X 2. An unexploded bomb has been found in Herbert Square, and they are evacuating the
area.
/X 3.The area is being evacuated as an unexploded bomb was found in the Herbert
Square.
X 4. Unexploded bomb found in the Herbert are, and the people are getting evacuated.
Question Type : MCQ
Question ID : 630680252889
Option 11D : 630680981537
Option 2 ID : 630680981536
Option 31D : 630680981538
Option 4 1D : 630680981535
Status : Answered
Chosen Option: 1
Marks : 2




Q.20 Select the most appropriate meaning of the given idiom.

Twist someone’s arm

Ans & 1. To pressurise someone to do something
< 2. To express openly
/X 3.To be very expensive

#< 4.To speak the truth, even if it is unpleasant

Question Type : MCQ
Question ID : 630680274576
Option 11D : 6306801066815
Option 2 1D : 6306801066817
Option 31D : 6306801066816
Option 4 1D : 6306801066818
Status : Marked For Review
Chosen Option : 1
Marks : 2
Q.21 Select the most appropriate meaning of the given proverb.
The pen is mightier than the sword
Ans X 1. Writing instruments are superior to weapons.
< 2. Weapons can protect, but writing instruments are symbolic of peace.
o 3. Written words have a greater impact than violence.
/5 4. Swords are obsolete in comparison to pens.
Question Type : MCQ
Question ID : 630680277932
Option 11D : 6306801080085
Option 2 1D : 6306801080088
Option 31D : 6306801080086
Option 4 1D : 6306801080087
Status : Answered
Chosen Option: 3
Marks : 2
Q.22 Select the INCORRECTLY spelt word in the given sentence.
Sumit was stopped from entering a restaurant as he was wearing tattered trousers and
decadent shoes, which did not match aristrocatic and luxurious life.
Ans & 1. aristrocatic
/5 2. decadent
X 3. restaurant
/X 4. trousers
Question Type : MCQ
Question ID : 630680274279
Option 11D : 6306801065630
Option 2 1D : 6306801065629
Option 31D : 6306801065627
Option 4 1D : 6306801065628
Status : Marked For Review
Chosen Option: 1
Marks : 2




Q.23 Select the most appropriate synonym of the underlined word.

The hiker discovered a pristine waterfall in the remote forest.
Ans X 1.Dirty

X 2. Damaged
#< 3. Polluted
o 4. Untouched

Question Type : MCQ
Question ID : 630680252150
Option 11D : 630680978579
Option 2 1D : 630680978582
Option 31D : 630680978580
Option 4 1D : 630680978581
Status : Answered
Chosen Option: 4
Marks : 2
Q.24 The given sentence has an error. Select the option that rectifies the error.
They used to ate together as a family before his parents divorced
Ans X 1. They have been used to eating together as a family before his parents divorced.
o 2. They used to eat together as a family before his parents divorced.
/< 3. They have eaten together as a family before his parents divorced.
/X 4. They were eating together as a family before his parents divorced.
Question Type : MCQ
Question ID : 630680277576
Option 11D : 6306801078735
Option 2 1D : 6306801078733
Option 31D : 6306801078736
Option 4 1D : 6306801078734
Status : Answered
Chosen Option : 2
Marks : 2
Q.25 Three positions have been marked as A, B and C in the given sentence. Where should you
place the apostrophe?
The mother[A]-in-law was offended by both of her daughter[B]-in-law[C]s attire
Ans *1.C
X 2.A
X 3.ABC
X 4.B
Question Type : MCQ
Question ID : 630680277573
Option 11D : 6306801078723
Option 2 1D : 6306801078721
Option 31D : 6306801078724
Option 4 1D : 6306801078722
Status : Answered
Chosen Option: 1
Marks : 2

Section : General Knowledge




Q.1 Wajahath Habibullah was the:

Ans o 1. first chief information commissioner of India
#5 2. first chief election commissioner of India
#< 3. first chief vigilance commissioner of India

75 4. first chief justice of India

Question Type : MCQ
Question ID : 630680275191
Option 11D : 6306801069278
Option 2 ID : 6306801069275
Option 31D : 6306801069276
Option 4 ID : 6306801069277
Status : Answered
Chosen Option: 1
Marks : 2

Q.2 SIRTfdeh UTuTUe WeeT RAAA (2 thgart 2022), swhivrear Safafiedr Iam=er YRdardi ufgs
‘3= gt -3 Haefa SurmEteia’ (OECM) R WUl wifta sevard s1ret?

Ans X 1. Fiea Stafafderdr =
X 2. gl Siafafderdr e
o 3. SRaCH Stafafaerdr e
X 4. Fered Safafaerar sam

Question Type : MCQ
Question ID : 630680269931
Option 11D : 6306801048976
Option 2 ID : 6306801048977
Option 31D : 6306801048978
Option 4 1D : 6306801048975
Status : Marked For Review
Chosen Option: 1
Marks : 0

Q.3 According to Census of India 2011, which state has the highest Scheduled Caste population
of India?

Ans X 1. Tamil Nadu
/X 2. Telangana
Z< 3. Rajasthan
o 4. Uttar Pradesh

Question Type : MCQ
Question ID : 630680275797
Option 11D : 6306801071702
Option 2 1D : 6306801071699
Option 31D : 6306801071701
Option 4 1D : 6306801071700
Status : Answered
Chosen Option : 4
Marks : 2




Q.4 What is the shortcut for 'save as file' in a spreadsheet?

Ans X 1.F1
X 2.F3
o 3.F12
X 4.F5
Question Type : MCQ
Question ID : 630680275395
Option 1 1D : 6306801070092
Option 2 ID : 6306801070093
Option 3 ID : 6306801070091
Option 4 ID : 6306801070094
Status : Answered
Chosen Option : 3
Marks : 2
Q.5 Ramakrishan Mission was founded in 1897 by who was a disciple of
Ramakrishna Paramhansa.
Ans X 1.Keshab Chandra Sen
/5 2. Ishwar Chandra Vidyasagar
/X 3. Dayananda Saraswati
" 4. Swami Vivekananda
Question Type : MCQ
Question ID : 630680275715
Option 11D : 6306801071373
Option 2 ID : 6306801071374
Option 3 1D : 6306801071372
Option 4 ID : 6306801071371
Status : Answered
Chosen Option : 4
Marks : 2

Q.6 Which of the following national parks in India is known for its population of the One-Horned

Rhinoceros?

Ans X 1. Ranthambore National Park
Z5 2. Kanha National Park
o 3. Kaziranga National Park

/5 4. Bandipur National Park

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680268953
6306801045121
6306801045119
6306801045120
6306801045122
Answered

3

2




Q.7 Which island serves as the capital of Lakshadweep?
Ans X 1.Bangaram Island
o 2. Kavaratti Island
75 3. Minicoy Island
< 4. Agatti Island
Question Type : MCQ
Question ID : 630680275765
Option 11D : 6306801071574
Option 2 ID : 6306801071573
Option 3 ID : 6306801071571
Option 4 ID : 6306801071572
Status : Answered
Chosen Option : 2
Marks : 2
Q.8 More than half of the mass of chromatin is due to:
Ans o 1. protein
< 2.DNA
5 3. fibre
2 4.RNA
Question Type : MCQ
Question ID : 630680269992
Option 11D : 6306801049221
Option 2 ID : 6306801049220
Option 3 ID : 6306801049222
Option 4 ID : 6306801049219
Status : Marked For Review
Chosen Option: 1
Marks : 2
Q9 In , the British East India Company annexed Assam as a result of the Treaty of
Yandaboo.
Ans " 1.1826
< 2.1828
/< 3.1824
< 4.1830
Question Type : MCQ
Question ID : 630680275670
Option 11D : 6306801071192
Option 2 1D : 6306801071193
Option 31D : 6306801071191
Option 4 1D : 6306801071194
Status : Marked For Review

Chosen Option :
Marks :

2
0




Q.10 Which Indian was honoured with the UN Environment Programme’s 2022 Champions of the
Earth award in the Entrepreneurial Vision category?

Ans 4" 1. Dr. Purnima Devi Barman
#< 2. Ravi Kumar Sagar
25 3. Ramesh Pokhriyal Nishank
/5 4. Narendra Modi

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

McQ
630680275409
6306801070149
6306801070150
6306801070147
6306801070148

4
0

Q.11 The book titled ‘Sachin @ 50: Celebrating a Maestro’, which was released in April 2023, was
written by

Ans X 1.Sachin Bajaj
< 2. Ramachandra Guha
«# 3. Boria Majumdar
Z< 4. Anindya Dutta

Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680269893
6306801048826
6306801048824
6306801048823
6306801048825
Marked For Review
2

0

Q.12 "Every blow aimed at me is a nail in the coffin of British Imperialism”. These are the words
of whom among the following national leaders of India?

Ans X 1. Motilal Nehru
/5 2. Subhas Chandra Bose
%" 3. Lala Lajpat Rai
/X 4. Bal Gangadhar Tilak

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680275820
6306801071794
6306801071791
6306801071793
6306801071792
Marked For Review
3

2




Q.13 e 5 siaifa Aigult e wRd AR HoR AT o1St 1 Sreiar ST Tt

Ans X 1. 9= o sifderdt
W 2. e
X 3.3
X 4. Sieg e sifderd

Question Type : MCQ
Question ID : 630680276538
Option 11D : 6306801074650
Option 2 ID : 6306801074648
Option 31D : 6306801074647
Option 4 ID : 6306801074649
Status : Answered
Chosen Option : 2
Marks : 2

Q.14 Sub-schemes ‘Shishu’, ‘Kishore’ and ‘Tarun’ are part of which of the following social security
schemes of the Government of India?

Ans " 1. Pradhan Mantri Mudra Yojana
/5 2. Pradhan Mantri Jeevan Jyoti Bima Yojana
/X 3. Pradhan Mantri Suraksha Bima Yojana
/< 4. Pradhan Mantri Jan Dhan Yojana

Question Type : MCQ
Question ID : 630680275476
Option 11D : 6306801070415
Option 2 ID : 6306801070418
Option 31D : 6306801070416
Option 4 ID : 6306801070417
Status : Answered
Chosen Option: 2
Marks : 0

Q.15 Which of the following Articles provides to establish and maintain institutions for religious
and charitable purposes?

Ans X 1. Article 27
o 2. Article 26
< 3. Article 29
/X 4. Article 28

Question Type : MCQ
Question ID : 630680269974
Option 11D : 6306801049148
Option 2 ID : 6306801049147
Option 31D : 6306801049150
Option 4 1D : 6306801049149
Status : Answered
Chosen Option : 2
Marks : 2




Q.16 RNA directed DNA synthesis is known as:

Ans X 1.replication
/X 2. translation
o 3. reverse transcription

25 4. transcription

Question Type : MCQ
Question ID : 630680269998
Option 11D : 6306801049246
Option 2 ID : 6306801049245
Option 3 ID : 6306801049244
Option 4 ID : 6306801049243
Status : Answered
Chosen Option : 3
Marks : 2
Q.17 Who are included in the Committee constituted for the appointment of the State Chief
Information Commissioner and other Information Commissioners?
(a) Chief Minister of State
(b) Governor of State
(c) Leader of Opposition in Vidhan Sabha
(d) One cabinet minister (nominated by the Chief Minister)
Ans  # 1.a,candd
X 2.abandc
/X 3.a,bandd
/X 4.b,candd
Question Type : MCQ
Question ID : 630680275204
Option 1 ID : 6306801069330
Option 2 ID : 6306801069328
Option 3 ID : 6306801069327
Option 4 ID : 6306801069329
Status : Answered
Chosen Option : 1
Marks : 2

Q.18 In the case of a eukaryotic cell, the replication of their genetic material starts in which of
the following stages of a cell cycle?

< 1. M phase
" 2. S phase

X 3.G1
X 4.62

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680269996
6306801049238
6306801049236
6306801049235
6306801049237
Answered

1

0




Q.19 The All-India Muslim League (AIML), popularly known as the Muslim League was founded in

_____atDhaka.
Ans X 1.1905
< 2.1900
W 3.1906
< 4.1889
Question Type : MCQ
Question ID : 630680275682
Option 11D : 6306801071241
Option 2 ID : 6306801071240
Option 3 ID : 6306801071242
Option 4 ID : 6306801071239
Status : Answered
Chosen Option: 3
Marks : 2
Q.20 What was the main objective of Rehnumai Mazdayasan Sabha?
Ans X 1. Restoring Islam religion to its pristine purity and modernising Islamic social custom
/X 2. Restoring Buddhist religion to its pristine purity and modernising Buddhist social
custom
/< 3. Restoring Jainism religion to its pristine purity and modernising Jain social custom
«F 4. Restoring Zoroastrian religion to its pristine purity and modernising Parsi social
custom
Question Type : MCQ
Question ID : 630680275173
Option 11D : 6306801069203
Option 2 ID : 6306801069204
Option 3 ID : 6306801069206
Option 4 ID : 6306801069205
Status : Answered
Chosen Option: 3
Marks : 0
Q.21 Biosphere reserves are sites established by countries and recognised under UNESCO's Man
and the Biosphere (MAB) Programme. Which of the following is the first biosphere reserve
of India?
Ans X 1. Manas National Park
5 2. Nokrek Biosphere Reserve
o 3. Nilgiri Biosphere Reserve
/5 4. Nanda Devi Biosphere Reserve
Question Type : MCQ
Question ID : 630680275435
Option 11D : 6306801070254
Option 2 ID : 6306801070251
Option 3 ID : 6306801070253
Option 4 ID : 6306801070252
Status : Marked For Review
Chosen Option: 3
Marks : 2




Q.22 Which state Government created a new Directorate of Minority Affairs under Planning &

Transformation Department in 2023?

Ans X 1. Manipur
o 2. Nagaland
25 3. Tripura
5 4. Mizoram
Question Type : MCQ
Question ID : 630680270594
Option 11D : 6306801051565
Option 2 ID : 6306801051562
Option 3 1D : 6306801051563
Option 4 ID : 6306801051564
Status : Answered
Chosen Option: 3
Marks : 0
Q.23 In December 2022, Pradhan Mantri Adi Adarsh Gram Yojna was launched by which of the
following ministries?
Ans X 1. Ministry of Rural Development
" 2. Ministry of Tribal Affairs
75 3. Ministry of Chemicals and Fertilizers
75 4. Ministry of Development of North Eastern Region
Question Type : MCQ
Question ID : 630680269947
Option 1 ID : 6306801049042
Option 2 ID : 6306801049039
Option 3 1D : 6306801049040
Option 4 ID : 6306801049041
Status : Answered
Chosen Option : 1
Marks : 0
Q.24 1955 =T ARG fAf gt et 5(1)(a) Siarfd ARTRGAETS! 315t vargd], R
dRATAT hIY HRATAIT IR AIYROMOY g9 319 gifgst.
Ans X 1.u=ay
o 2. 91 a9
X 3. 3 T
X 4. ggray
Question Type : MCQ
Question ID : 630680276092
Option 11D : 6306801072879
Option 2 ID : 6306801072881
Option 3 ID : 6306801072882
Option 4 ID : 6306801072880
Status : Answered
Chosen Option : 2
Marks : 2




Q.25 #fger fRAeromen deufa affa wRaTd« Slora A daa sa?
Ans X 1. @l e

X 2. T g aXadt
X 3. @t arge
W 4. diSt herd ohd

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275159
6306801069147
6306801069148
6306801069150
6306801069149
Answered

4

2

Section : General Intelligence

Q.1 Two express trains of length 320 m and 380 m start moving from Ahmedabad to Delhi at the
same time. Their speeds are 84 km/h and 42 km/h, respectively. In how many seconds will
the faster train cross the slower train?

Ans X 1.120 sec
X 2.45sec
" 3.60 sec
/5 4.50 sec

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680279371
6306801085753
6306801085751
6306801085754
6306801085752
Answered

3

2




Q.2 The value of (0.1 x 0.001 x 0.0001 x 105) is:

Ans 1
K1 —
10
i L
2, ——
100
#< 3100
x4l
Question Type : MCQ
Question ID : 630680277185
Option 11D : 6306801077216
Option 2 ID : 6306801077215
Option 31D : 6306801077213
Option 4 ID : 6306801077214
Status : Answered
Chosen Option : 2
Marks : 2
Q.3 Evaluate:
18-(20-15+3).
Ans X 1.6
X 24
3.3
X 42
Question Type : MCQ
Question ID : 630680277172
Option 11D : 6306801077161
Option 2 ID : 6306801077162
Option 31D : 6306801077163
Option 4 ID : 6306801077164
Status : Answered
Chosen Option: 3
Marks : 2

Q.4 At what rate percentage per year will a sum of money double itself in 10 years on simple

interest?
Ans X 1.6%

< 2.12%
% 3.15%

o 4.10%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277336
6306801077793
6306801077795
6306801077796
6306801077794
Answered

4

2




Q.5 Read the given statements and conclusions carefully. You have to take the given statements
to be true even if they seem to be at variance from commonly known facts. You have to
decide which conclusion/s logically follow/s from the given statements.

Statements:

All buses are trucks

. All trucks are cars

. All cars are planes.
Conclusions:

(I) Some buses are trucks.
(I1) All trucks are planes.

Ans X 1.0nly conclusion Il follows.
o 2. Both conclusion | and Il follow.
Z< 3. Only conclusion | follows.

75 4. Neither conclusion | nor conclusion Il follows.

Question Type : MCQ
Question ID : 630680276955
Option 11D : 6306801076314
Option 2 1D : 6306801076315
Option 31D : 6306801076313
Option 4 1D : 6306801076316
Status : Answered
Chosen Option : 2
Marks : 2

Q.6 Based on the alphabetical order, three of the following four letter-cluster pairs are alike in a
certain way and thus form a group. Select the option that does NOT belong to that group.

Ans X 1.GL-OT

W 2.QU-XC
X 3.HM-PU
2 4.AF-IN

Question Type : MCQ
Question ID : 630680273897
Option 11D : 6306801064108
Option 2 1D : 6306801064107
Option 31D : 6306801064109
Option 41D : 6306801064110
Status : Answered
Chosen Option : 2
Marks : 2




Q.7 If ‘A’ stands for '+, ‘B’ stands for ‘+’, ‘C’ stands for ‘x’ and ‘D’ stands for ‘~’, what will come in
place of the question mark (?) in the following equation?

34D81B9A6C4=?

Ans X 1.41
W 2.49
< 3.51
X 4.47
Question Type : MCQ
Question ID : 630680271189
Option 11D : 6306801053828
Option 2 ID : 6306801053829
Option 3 1D : 6306801053830
Option 4 1D : 6306801053831
Status : Answered
Chosen Option: 2
Marks : 2
Q.8 The smallest natural number that must be added to 1212 to make it a perfect square is:
Ans X 1.18
7 2.27
X 3.24
o413
Question Type : MCQ
Question ID : 630680277183
Option 11D : 6306801077208
Option 2 ID : 6306801077207
Option 31D : 6306801077206
Option 4 ID : 6306801077205
Status : Answered
Chosen Option : 4
Marks : 2




Q.9 Read the given statements and conclusions carefully. You have to take the given statements
to be true even if they seem to be at variance from commonly known facts. You have to
decide which conclusion/s logically follow/s from the given statements.

Statements:

All pigeons are kangaroos.
Some pigeons are monkeys.
No pigeon is a turtle.

Conclusion (I): No kangaroos are turtles.

Conclusion (II): Some monkeys are turtles.
Ans X 1.0nly conclusion | is true.

/5 2. Only conclusion Il is true.
o 3. Neither conclusion | nor conclusion Il are true.

#< 4. Both conclusions | and Il are true.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680271395
6306801054652
6306801054653
6306801054655
6306801054654
Answered

3

2

Q.10 The average of the prime numbers between 11 and 30 is:
Ans X 1.19.6

W 2.20.2
X 3.195
X 4.203

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680277209
6306801077310
6306801077311
6306801077309
6306801077312
Answered

2

2




Q.11 Refer to the following letter, number, symbol series and answer the question that follows.

(Left) YF)7DT%9@6B&8S3*Z5P #R (Right)

If all the numbers are dropped from the series, which of the following will be 11th from the

right?
Ans X 1.*
X 2D
w3 T
X 4%
Question Type : MCQ
Question ID : 630680256946
Option 1 ID : 630680997696
Option 2 ID : 630680997697
Option 3 ID : 630680997695
Option 4 ID : 630680997698
Status : Answered
Chosen Option : 3
Marks : 2
Q.12 Select the set in which the letter-clusters are related in the same way as are the letter-
clusters of the following set.
IF - GD - BE
Ans X 1.QN-OL-JK
X 2.MJ-KH-FE
& 3.QN-OL-JM
X 4.MJ-KI-GD
Question Type : MCQ
Question ID : 630680257452
Option 1 ID : 630680999714
Option 2 ID : 630680999711
Option 31D : 630680999712
Option 4 ID : 630680999713
Status : Answered
Chosen Option : 3
Marks : 2

Q.13 QahT <RI 150 km 3iaR HIUUATHTST 12 AT @NTAT. SRt 9T iR g1 qefiaizr Wt 5/8
ASd U, R AT A IAR 3R HIIuarATS =T AT (km/h TR, Yeh E2mieT RATTGAT

Ans

quItfrer) fareft aramam?
X 1.115
o211
% 3.105
X 4.67

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680279372
6306801085758
6306801085757
6306801085756
6306801085755
Answered

2

2




Q.14 On what sum of money will the simple interest for 3 years at 8% per annum be half of the
compound interest on ¥400 for 2 years at 10% per annum considering annual
compounding?

Ans X 1.3150
W 2.3175
X 3.7125
X 4.7200

Question Type : MCQ
Question ID : 630680277355
Option 11D : 6306801077870
Option 21D : 6306801077871
Option 31D : 6306801077869
Option 4 1D : 6306801077872
Status : Answered
Chosen Option: 2
Marks : 2

Q.15 What should come in place of the question mark (?) in the given series based on the English
alphabetical order?

IXK, MSQ, QNW, UIC, ?
Ans X 1.YCG
X 2.XBG
X 3.XCH

o 4.YDI

Question Type : MCQ
Question ID : 630680271377
Option 1 ID : 6306801054580
Option 2 1D : 6306801054581
Option 31D : 6306801054582
Option 4 ID : 6306801054583
Status : Answered
Chosen Option : 4
Marks : 2

Q.16 What should come in place of the question mark (?) in the following series?
12,18, 2, 48,72, 102

Ans X 1.42
X 2.36
X 3.24
o 4.30

Question Type : MCQ
Question ID : 630680273916
Option 11D : 6306801064186

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

6306801064185
6306801064183
6306801064184
Answered

4

2




Q.17 Select the set in which the letter-clusters are related in the same way as are the letter-

clusters of the following set.

KO - MQ - RN
Ans X 1.RV-TX-YZ

< 2.HL-JN-OL
< 3.HL-JM-OK
W 4.RV-TX-YU

Question Type :
Question ID :

: 630680999707
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

Option 11D

McCQ
630680257451

630680999709
630680999708
630680999710
Answered

4

2

Q.18 A trader lost 20% by selling a watch for ¥1,024. What percentage will he gain by selling it for

¥1,472?
Ans X 1.20%

o 2.15%
X 3.10%
X 4.12%

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277307
6306801077680
6306801077679
6306801077677
6306801077678
Answered

2

2

Q.19 What should come in place of ? in the given series?

21,23,27,33,41?
Ans " 1.51

X 2.40
% 3.39
X 4.43

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680257164
630680998560
630680998562
630680998559
630680998561
Answered

1

2




Q.20 There are 4 pipes attached to a tank. Two to fill the tank and the other two to transfer the
water into a cistern. The first two pipes can fill the tank in 40 sec and 80 sec, respectively,
when opened alone, while the last two can empty it in 80 sec and 160 sec, respectively,
when opened alone. If all the pipes are opened together, in how much time will the tank,

Ans

initially empty, be filled?

< 1.16.8 sec
X 2.24.44 sec
5 3.21.2sec
o 4.53.33 sec

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680279407
6306801085898
6306801085896
6306801085895
6306801085897
Answered

4

2

Q.21 Three of the following four letter-cluster-pairs are alike in a certain way and thus form a

Ans

group. Select the pair that does NOT belong to that group.

W 1. MP-LQ
X 2.0RNQ
7 3.SV-RU
X 4.QT-PS

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680271166
6306801053736
6306801053739
6306801053738
6306801053737
Answered

1

2




Q22 1fihe selling price of an article is 31 times its cost price, the profit percentage is:
Ans 1
- 33; %
1
%2 20 = %%
1
X 3. 25 z 2
1
X 4 20 E %
Question Type : MCQ
Question ID : 630680277312
Option 11D : 6306801077697
Option 2 1D : 6306801077700
Option 31D : 6306801077698
Option 4 ID : 6306801077699
Status : Answered
Chosen Option : 1
Marks : 2
Q.23 What should come in place of ? in the given series in order to make it logically complete?
LJ15 NL21 PN27 RP33 ?
Ans X 1.US39
.‘f 2. TR39
/< 3.TR40
5 4.US40
Question Type : MCQ
Question ID : 630680271418
Option 1 ID : 6306801054745
Option 2 ID : 6306801054746
Option 3 ID : 6306801054744
Option 4 ID : 6306801054747
Status : Answered
Chosen Option : 2
Marks : 2




Q.24 A and B can complete a piece of work in 15 days and 20 days, respectively. Find the work

Ans

left after A has worked for 3 days.

4
o 1. g
1
X2 =
3
<3 g
2
< 4 g

Question Type :
Question ID :
: 6306801085842

Option 1 ID

Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

mcQ
630680279393

6306801085839
6306801085841
6306801085840
Answered

1

2

Q.25 What should come in place of the question mark (?) in the given series based on the English

Ans

alphabetical order?

OWF, SVD, WUB, ATZ, ?

W 1. ESX
X 2.FRY

X 3.Fsz
X 4.GSY

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680271359
6306801054511
6306801054510
6306801054509
6306801054508
Answered

1

2




